based on recrimed Hamabook 2023, Total ed. o						
Solo Free	Dance			Level:	1	TM
Competition:	British Open Inclusive Skat	ting Championship 2	025			S
First name:	Evie	Last name:	Rose Banks	Sex:	Lady	
Age Jan 1st:	12	Age category:	Novice	Country:	England, UK	SKATING
Classification:	Physical Independent	Support:		Club:		SKATING
Elements				Technical	Grade of Execution Official Use Only	Mark awarded
Level 1						
Pose (3 to 6 seconds)			0.333	3 4.1	1.365	
Step sequence (straight line, basic F 3 turns, Fx rolls etc)			0.367	7 4	1.468	
Spin (1 or 2 foot, up	oright)			0.333	5.2	1.732
Total Technical E	lements		Total judges so	ore for elements		4.565
			Factor	WPI	WPI incl age	
Impairment Comp	pensation (6 x WPI)			6 5.00%	5.00%	0.300
Technical Skating	Skills (Factor x Score)			1	2.5	2.500
Artistic Performa	Artistic Performance & Execution (Factor x Score) 1			1	2.9	2.900
Deductions	Deductions					
Total Score for Performance						10.27
	Programme duration (min): 1.5 Time Adjusted Championship World Ranking Score					

					•		
Dance			Level:	1	тм		
British Open Inclusive SI	kating Championship 2	025			S		
Mimi	Last name:	Lomas	Sex:	Lady			
38	Age category:	Senior	Country:	England, UK	SKATING		
Unified Classified	Support:		Club:		SKATING		
			Technical	Grade of Execution Official Use Only	Mark awarded		
			<u> </u>				
Pose (3 to 6 seconds)			0.333	1.5	0.500		
Step sequence (straight line, basic F 3 turns, Fx rolls etc)			0.367	0.9	0.330		
nt)			0.333	1	0.333		
nents		Total judges so	ore for elements		1.163		
		Factor	WPI	WPI incl age			
sation (6 x WPI)			6 5.00%	5.00%	0.300		
kills (Factor x Score)			1	1.2	1.200		
Artistic Performance & Execution (Factor x Score)			1	1.5	1.500		
		•	•		0.00		
		Total S	core for Pe	rformance	4.16		
Programme duration	Programme duration (min): 1.5 Time Adjusted Championship World Ranking Score						
	British Open Inclusive St. Mimi 38 Unified Classified at line, basic F 3 turns, Fx mit) nents sation (6 x WPI) kills (Factor x Score) & Execution (Factor x	British Open Inclusive Skating Championship 2 Mimi Jast name: 38 Age category: Unified Classified Support: at line, basic F 3 tums, Fx rolls etc) int) nents sation (6 x WPI) kills (Factor x Score) & Execution (Factor x Score)	British Open Inclusive Skating Championship 2025 Mimi Sas Age category: Senior Unified Classified Support: It line, basic F 3 turns, Fx rolls etc) Int) Inents Total judges so Factor Isation (6 x WPI) kills (Factor x Score) Sastion (Factor x Score) Total So	British Open Inclusive Skating Championship 2025 Mimi	British Open Inclusive Skating Championship 2025 Mimi		

Based of Fectifical Hallubook 2023, 10th ed.								
Solo Free	Dance			Level:	1	ТМ		
Competition:	British Open Inclusive Ska	ating Championship 2	025			S		
First name:	Nikki	Last name:	Sibeon	Sex:	Lady			
Age Jan 1st:	34	Age category:	Senior	Country:	Wales, UK	SKATING		
Classification:	Visual Independent	Support:		Club:		SKATINU		
Elements	·	·		Technical	Grade of Execution Official Use Only	Mark awarded		
Level 1				<u> </u>				
Pose (3 to 6 seconds)				0.333	3 2	0.660		
Step sequence (stra	aight line, basic F 3 turns, Fx ro	Ils etc)		0.367	7 1.5	0.55		
Spin (1 or 2 foot, up	oright)			0.333	1.3	0.433		
Total Technical E	lements		Total judges se	core for elements		1.65		
			Factor	WPI	WPI incl age			
Impairment Comp	pensation (6 x WPI)			6 35.00%	35.00%	2.100		
Technical Skating	Skills (Factor x Score)			1	1.9	1.900		
Artistic Performa	nce & Execution (Factor x S	Score)		1	2.3	2.300		
Deductions	,			•		0.00		
			Total S	core for Pe	rformance	7.95		
	Programme duration (min): 1.5	Time Adjus	ted Championship W	orld Ranking Score	5.30		

Solo Free I	Dance			Level:	2	ТМ
Competition:	British Open Inclusive Skat	ing Championships	2025			S
First name:	Mary	Last name:	Ferrie	Sex:	Lady	
Age Jan 1st:	53	Age category:	Master	Country:	Scotland, UK	SKATING
Classification:	Physical Independent	Support:		Club:		SKATING
Elements				Technical	Grade of Execution Official Use Only	Mark awarded
Level 2					Official Coc Offig	
Pose (3 to 6 seconds)			0.5	2.3	1.150	
. ,	ht line, basic F 3 turns, Fx rolls	s etc)		0.5	2.4	1.200
One position spin (no	change of foot)			0.5	1.6	0.800
			1=			
Total Technical Eler	nents		Total judges sco	re for elements	3.150	
			Factor	WPI	WPI incl age	
Impairment Compe	nsation (9 x WPI)		9	7.00%	19.09%	1.718
Technical Skating S	kills (Factor x Score)		1.5		2.3	3.450
Artistic Performance & Execution (Factor x Score) 1.5				2.6	3.900	
Deductions	· ·	•	•	•		0.00
			Total Sc	ore for Per	formance	12.22
Programme duration (min): 1.5 Time Adjusted Championship World Ranking Score						

	Based of Technical Handbook 2023, 10th ed.							
Solo Free	Dance			Level:	2	TM		
Competition:	British Open Inclusive Skatir	ng Championship 2	025			S		
First name:	Amy	Last name:	Scott	Sex:	Lady			
Age Jan 1st:	18	Age category:	Senior	Country:	England, UK	SKATING		
Classification:	Intellectual Independent	Support:		Club:		SKATING		
Elements				Technical	Grade of Execution Official Use Only	Mark awarded		
Level 2				•				
Pose (3 to 6 seconds)				0.5	4	2.00		
Step sequence (straight line, basic F 3 tums, Fx rolls etc)				0.5	2.25	1.12		
One position spin (n	o change of foot)			0.5	1.9	0.95		
Total Technical El	ements		Total judges sco	re for elements		4.07		
			Factor	WPI	WPI incl age			
Impairment Comp	ensation (9 x WPI)		9	5.00%	5.00%	0.450		
Technical Skating	Skills (Factor x Score)		1.5		2	3.000		
Artistic Performar	nce & Execution (Factor x Sco	ore)	1.5		2	3.000		
Deductions	,		•	•		0.00		
			Total Sc	ore for Pe	rformance	10.53		
	Programme duration (min	n): 1.5	Time Adjusted	d Championship Wo	orld Ranking Score	7.02		

				Basea on recinitean	idiidbook 2025, 10tii ce	a, apadica 22,20,202	
Solo Free	Dance			Level:	4	TM	
Competition:	British Open Inclusive Ska	ating Championship 2	025			ي	
First name:	Vicki	Last name:	Smart	Sex:	Lady		
Age Jan 1st:	35	Age category:	Senior	Country:	England, UK	SKATING	
Classification:	Visual Independent	Support:		Club:		SKATING	
	·				Grade of		
				Technical	Execution	Mark awarded	
Elements					Official Use Only		
Level 3							
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps				1.033	2	2.060	
Pose (3 to 6 seconds)				0.667	2	1.334	
Step sequence (stra	aight line, full ice surface, basic	F + B 3 turns etc)		0.867	1.2	1.040	
One position Dance	Spin (no change of foot)			0.867	2.3	1.994	
Total Technical E	lements		Total judges sco	re for elements		4.440	
			Factor	WPI	WPI incl age		
Impairment Comp	pensation (20 x WPI)		20	33.00%	33.00%	6.600	
Technical Skating	Skills (Factor x Score)		1.5		2.1	3.150	
Artistic Performar	nce & Execution (Factor x S	core)	1.5		1.6	2.400	
Deductions	•	•	•			0.00	
			Total Sc	ore for Pe	formance	16.59	
	Programme duration (min): 2 Time Adjusted Championship World Ranking Score						

Solo Free	Dance			Level:	2	TM	
Competition:	British Open Inclusive Skatir	ng Championship 2	025			S	
First name:	Callum	Last name:	Mills	Sex:	Man		
Age Jan 1st:	26	Age category:	Senior	Country:	England, UK	SKATING	
Classification:	Intellectual Independent	Support:		Club:		SKATING	
Elements				Technical	Grade of Execution Official Use Only	Mark awarded	
Level 2							
Pose (3 to 6 seconds)			0.5	3	1.500		
Step sequence (straight line, basic F 3 turns, Fx rolls etc)			0.5	2.2	1.100		
One position spin (no	change of foot)			0.5	1.8	0.900	
Total Technical Ele	ements		Total judges sco	re for elements		3.500	
			Factor	WPI	WPI incl age		
Impairment Compe	ensation (9 x WPI)		9	53.00%	53.00%	4.770	
Technical Skating	Skills (Factor x Score)		1.5		2.65	3.975	
Artistic Performance & Execution (Factor x Score) 1.5				2.9	4.350		
Deductions						0.00	
			Total Sc	ore for Per	formance	16.60	
	Programme duration (min): 1.5 Time Adjusted Championship World Ranking Score						

ance			Level:	3	TM
British Open Inclusive Skatin	g Championship 2	025			S
Meg	Last name:	McFarlane	Sex:	Lady	
21	Age category:	Senior	Country:	England, UK	SKATING
Intellectual Independent	Support:		Club:		SKATING
			Technical	Grade of Execution	Mark awarded
Elements Official Use Only Level 3					
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps				0.9	0.930
Pose (3 to 6 seconds)				4	2.668
Step sequence (straight line, full ice surface, basic F + B 3 turns etc)				1.7	1.474
in (no change of foot)			0.867	2.5	2.168
ents		Total judges sco	re for elements		5.072
		Factor	WPI	WPI incl age	
sation (20 x WPI)		20	60.00%	60.00%	12.000
tills (Factor x Score)		1.5		2.4	3.600
Artistic Performance & Execution (Factor x Score) 1.5				3	4.500
•		•			0.00
Total Score for Performance					
Programme duration (mir	n): 2	Time Adjusted	d Championship Wo	orld Ranking Score	12.59
	Meg 21 Intellectual Independent et, c+cc, 1+ rotation, max 3 lin t line, full ice surface, basic F- in (no change of foot) eents sation (20 x WPI) tills (Factor x Score) & Execution (Factor x Sco	British Open Inclusive Skating Championship 2 Meg Last name: 21 Age category: Intellectual Independent Support: et, c+cc, 1+ rotation, max 3 linking steps t line, full ice surface, basic F + B 3 turns etc) in (no change of foot) eents sation (20 x WPI) tills (Factor x Score)	British Open Inclusive Skating Championship 2025 Meg	British Open Inclusive Skating Championship 2025 Meg	British Open Inclusive Skating Championship 2025 Meg

based on reclinical mandpook 2025, 10th ed							
Solo Free D	ance			Level:	3	TM	
Competition:	British Open Inclusive Skating	g Championship 2	025			S	
First name:	Stephanie	Last name:	Gott	Sex:	Lady		
Age Jan 1st:	27	Age category:	Senior	Country:	England, UK	SKATING	
Classification:	Intellectual Independent	Support:		Club:		SKATING	
					Grade of		
				Technical	Execution	Mark awarded	
Elements	Elements				Official Use Only		
Level 3							
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps				1.033	3.7	3.822	
Pose (3 to 6 seconds)				0.667	4.8	3.202	
Step sequence (straigh	t line, full ice surface, basic F +	· B 3 turns etc)		0.867	4.7	4.075	
One position Dance Sp	in (no change of foot)			0.867	6	5.202	
			T=				
Total Technical Elem	ients		Total judges scor	e for elements	11.099		
			Factor	WPI	WPI incl age		
Impairment Compen	sation (20 x WPI)		20	35.00%	35.00%	7.000	
Technical Skating Sk	kills (Factor x Score)		1.5		3.9	5.850	
Artistic Performance	Artistic Performance & Execution (Factor x Score) 1.5				4.1	6.150	
Deductions							
Total Score for Performance						30.10	
	Programme duration (min): 2 Time Adjusted Championship World Ranking Score						

	_					
Solo Free	Dance			Level:	3	TM
Competition:	British Open Inclusive Skat	ing Championship 2	025			S
First name:	Charlie	Last name:	Stamp	Sex:	Lady	
Age Jan 1st:	21	Age category:	Senior	Country:	England, UK	SKATING
Classification:	Physical Independent	Support:		Club:		SKATING
El				Technical	Grade of Execution	Mark awarded
Elements Official Use Only						
Level 3						
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps				1.033	1.8	1.859
Pose (3 to 6 seconds)				0.667	3.6	2.401
Step sequence (straight line, full ice surface, basic F + B 3 turns etc)				0.867	3.3	2.861
One position Dance	Spin (no change of foot)			0.867	4	3.468
Total Technical El	ements		Total judges sco	re for elements		7.121
			Factor	WPI	WPI incl age	
Impairment Comp	ensation (20 x WPI)		20	5.00%	5.00%	1.000
Technical Skating	Skills (Factor x Score)		1.5		2.5	3.750
Artistic Performar	ice & Execution (Factor x Sc	ore)	1.5		1.9	2.850
Deductions	,	•				0.00
Total Score for Performance						14.72
	Programme duration (m	nin): 2	Time Adjusted	d Championship Wo	orld Ranking Score	7.36

Based on Teenmear Handsook 2025, 18th ed.							
Solo Free	Dance			Level:	3	TM	
Competition:	British Open Inclus	ive Skating Championship 2	025			S	
First name:	Jennifer	Last name:	Lee	Sex:	Lady		
Age Jan 1st:	27	Age category:	Senior	Country:	England, UK	SKATING	
Classification:	II/D	Support:		Club:		SKATING	
		·			Grade of		
				Technical	Execution	Mark awarded	
Elements					Official Use Only		
Level 3							
Twizzles, 1 Foot or 2 feet, c+cc, 1+ rotation, max 3 linking steps			1.033	4.7	4.855		
Pose (3 to 6 seconds)				0.667	4.7	3.135	
Step sequence (stra	right line, full ice surface	, basic F + B 3 turns etc)		0.867	5.8	5.029	
One position Dance	Spin (no change of foo	t)		0.867	5	4.335	
Total Technical E	lements		Total judges sco	re for elements		13.019	
			Factor	WPI	WPI incl age		
Impairment Comp	ensation (20 x WPI)		20	35.00%	35.00%	7.000	
Technical Skating	Skills (Factor x Scor	e)	1.5		3.9	5.850	
Artistic Performar	Artistic Performance & Execution (Factor x Score) 1.5				5.5	8.250	
Deductions	Deductions						
			Total Sc	ore for Per	formance	34.12	
	Programme duration (min): 2 Time Adjusted Championship World Ranking Score						

based on Technical Handbook 2023, 10th ed.						. apadica zz.10.202+
Solo Free	Dance			Level:	5	TM
Competition:	British Open Inclusive S	kating Championship 2	025			
First name:	Hadassah	Last name:	Campbell	Sex:	Lady	
Age Jan 1st:	27	Age category:	Senior	Country:	England, UK	SKATING
Classification:	Unified Classified	Support:		Club:		SKATING
Elements				Technical	Grade of Execution Official Use Only	Mark awarded
Level 5				•		
Twizzles, 2 rotations on any edge, c + cc, max 3 linking steps, add. features permitted				1.867	4.7	8.775
Pose 1 (3 to 6 seconds)				1	4.5	4.500
Pose 2 (3 to 6 seconds)				1	5.5	5.500
	night line, full ice surface, brac		,	1.867	5	9.335
One Dance Spin (1	change of position and one of	change of foot permitte	d)	1.533	5	7.665
Total Technical E	lements		Total judges sco	re for elements		18.775
			Factor	WPI	WPI incl age	
Impairment Comp	pensation (40 x WPI)		30	0.00%	0.00%	0.000
Technical Skating	Skills (Factor x Score)		2.5		3.8	9.500
Artistic Performan	nce & Execution (Factor x	Score)	2.5		3.8	9.500
Deductions						0.00
			Total Sc	ore for Pe	formance	37.78
	Programme duration	(min): 2.25	Time Adjusted	d Championship Wo	orld Ranking Score	16.79

				basea on reciniteari	Tallubook 2023, Totil et	3. apaatea 22.10.2024
Solo Free	Dance			Level:	4	ТМ
Competition:	British Open Inclusive S	kating Championship 2	025			
First name:	Emily	Last name:	Poulton-Smyth	Sex:	Lady	
Age Jan 1st:	20	Age category:	Senior	Country:	England, UK	SKATING
Classification:	Unified Classified	Support:		Club:		SKATINU
Elemente				Technical	Grade of Execution	Mark awarded
Elements				<u> </u>	Official Use Only	
Level 4				T		
	on 1 foot + more on 2 feet, a	ny edge, c + cc, max 3	linking steps	1.533		7.358
Pose (3 to 6 second	ls)			1	5.1	5.100
Step seq. (straight li	ne, full ice surface, double 3	turns, twizzles + more a	adv. turns)	1.367	5.5	7.519
One position Dance Spin (no change of foot)				1.2	5.3	6.360
Total Technical El	lements		Total judges sco	ore for elements		19.977
			Factor	WPI	WPI incl age	
Impairment Comp	Impairment Compensation (30 x WPI)			5.00%	5.00%	1.500
Technical Skating	Skills (Factor x Score)		2.	5	3.65	9.125
Artistic Performance & Execution (Factor x Score)			2.	5	4.5	11.250
Deductions	Deductions					
			Total So	ore for Pe	rformance	41.85
Programme duration (min): 2 Time Adjusted Championship World Ranking Score						

				basea on recrimean	iandbook 2025, 10th co	a. apaatea 22.10.202	
Solo Free	Dance			Level:	6	TM	
Competition:	British Open Inclusive S	kating Championship 2					
First name:	Harvey	Last name:	Snook	Sex:	Man		
Age Jan 1st:	16	Age category:	Junior	Country:	England, UK	SKATING	
Classification:	Unified Classified	Support:		Club:		DMIIAAC	
Elements				Technical	Grade of Execution Official Use Only	Mark awarded	
Level 6							
Twizzles, 3 or more	rotations on any edge, c + co	on any edges, max 3 l	inking steps,				
additional features p	permitted			2.2	6.5	14.300	
Combination Pose 1	2 secs with max 1 linking ste	p (each pose min 3 sec	conds)	1.333	8	10.664	
Choreographic dand	ce element			1.7	7.5	12.750	
Step seq (straight lir	ne or curved, full ice surface,	counters, rockers, twizz	les etc)	2.367	9	21.303	
One Dance Spin (al	I permitted)			1.867	4.35	8.12	
Total Technical E	lements		Total judges sco	re for elements		37.714	
			Factor	WPI	WPI incl age		
Impairment Comp	pensation (50 x WPI)		50	0.00%	0.00%	0.000	
Technical Skating Skills (Factor x Score)			2.5	5	8.2	20.500	
Artistic Performance & Execution (Factor x Score)			2.5	5	6.9	17.250	
Deductions	`	,			•	0.00	
			Total Sc	ore for Pe	formance	75.46	
Programme duration (min): 2.5 Time Adjusted Championship World Ranking Score							
		• •			•		

				Basea on recininear	idiidbook 2025) 10tii ce	ii apaatea EEizoiEo
Solo Free	Dance			Level:	6	TM
Competition:	British Open Inclusive S	kating Championship 2	025			
First name:	Caitlyn	Last name:	Baxby	Sex:	Lady	
Age Jan 1st:	16	Age category:	Junior	Country:	England, UK	SKATING
Classification:	Unified Classified	Support:		Club:		SKATING
Elements				Technical	Grade of Execution Official Use Only	Mark awarded
Level 6				•		
Twizzles, 3 or more r	otations on any edge, c + co	on any edges, max 3 l	linking steps,			
additional features p	ermitted			2.2	7	15.40
Combination Pose 12 secs with max 1 linking step (each pose min 3 seconds)			1.333	7	9.33	
Choreographic dance element			1.7	4	6.80	
Step seq (straight lin	e or curved, full ice surface,	counters, rockers, twizz	les etc)	2.367	3	7.10
One Dance Spin (all	permitted)			1.867	6	11.20
Total Technical El	ements		Total judges sco	re for elements	31.53	
			Factor	WPI	WPI incl age	
Impairment Comp	ensation (50 x WPI)		50	5.00%	5.00%	2.500
Technical Skating	Skills (Factor x Score)		2.5	5	5.6	14.000
Artistic Performance & Execution (Factor x Score)			2.5	5	5.8	14.500
Deductions	•	•	•		•	0.00
			Total Sc	ore for Pe	formance	62.53
Programme duration (min): 2.5 Time Adjusted Championship World Ranking Score						

				Dasca on recrimean	ianubook 2023, 10th et	1. apaatea 22.10.202
Solo Free	Dance			Level:	6	TM
Competition:	British Open Inclusive Skat	ing Championship 2				
First name:	Jessica	Last name:	Jepps	Sex:	Lady	
Age Jan 1st:	24	Age category:	Senior	Country:	England, UK	SKATING
Classification:	Physical Independent	Support:		Club:		SKATING
Elements				Technical	Grade of Execution Official Use Only	Mark awarded
Level 6						
Twizzles, 3 or more	rotations on any edge, c + cc or	n any edges, max 3 l	linking steps,			
additional features p	permitted			2.2	2.5	5.500
Combination Pose 1	2 secs with max 1 linking step (each pose min 3 sec	conds)	1.333	5.5	7.332
Choreographic dand	ce element			1.7	5.1	8.670
Step seq (straight lin	ne or curved, full ice surface, co	unters, rockers, twizz	les etc)	2.367	4	9.468
One Dance Spin (all	I permitted)			1.867	4	7.468
Total Technical E	lements		Total judges sco	re for elements		21.502
			Factor	WPI	WPI incl age	
Impairment Comp	pensation (50 x WPI)		30	19.00%	19.00%	5.700
Technical Skating	Skills (Factor x Score)		2.5		3.3	8.250
Artistic Performance & Execution (Factor x Score)			2.5		3.1	7.750
Deductions	•	•	•			0.00
			Total Sc	ore for Pe	rformance	43.20
Programme duration (min): 2.5 Time Adjusted Championship World Ranking Score						
	· ·					

				Basea on recinition i	idiidbook EoEs) Totii et	ii apaatea EEiIoiEt
Solo Free	Dance			Level:	6	TM
Competition:	British Open Inclusive S	kating Championship 2	025			
First name:	Cara	Last name:	Leigh Sisson	Sex:	Lady	
Age Jan 1st:	32	Age category:	Senior	Country:	England, UK	SKATING
Classification:	Unified Classified	Support:		Club:		SKATING
Elements				Technical	Grade of Execution Official Use Only	Mark awarde
Level 6						
Twizzles, 3 or more r	otations on any edge, c + co	on any edges, max 3 l	inking steps,			
additional features p	ermitted			2.2	7.5	16.5
Combination Pose 12 secs with max 1 linking step (each pose min 3 seconds)			1.333	7	9.3	
Choreographic dance element			1.7	9.5	16.1	
Step seq (straight lin	e or curved, full ice surface,	counters, rockers, twizz	les etc)	2.367	5	11.8
One Dance Spin (all	permitted)			1.867	4.2	7.8
Total Technical El	ements		Total judges sco	otal judges score for elements		
			Factor	WPI	WPI incl age	
Impairment Compensation (50 x WPI)			50	5.00%	5.00%	2.500
Technical Skating	Skills (Factor x Score)		2.5	5	6	15.000
Artistic Performance & Execution (Factor x Score)			2.5	5	7.5	18.750
Deductions						0.00
			Total Sc	ore for Pe	rformance	78.23
Programme duration (min): 2.5 Time Adjusted Championship World Ranking Score						

				Basea on recinitears	idiidbook EdES) Edili ca	ii apaatea EEiEoiE
Solo Free	Dance			Level:	6	TM
Competition:	British Open Inclusive Ska	ating Championship 2	025			
First name:	Juliana	Last name:	Sweeney-Baird	Sex:	Lady	
Age Jan 1st:	21	Age category:	Senior	Country:	Scotland, UK	SKATING
Classification:	Visual Independent	Support:		Club:		SKATING
Elements				Technical	Grade of Execution Official Use Only	Mark awarde
Level 6				*		
Twizzles, 3 or more r	otations on any edge, c + cc o	on any edges, max 3 l	linking steps,			
additional features p	permitted			2.2	5.5	12.
Combination Pose 12 secs with max 1 linking step (each pose min 3 seconds)			1.333	9	11.9	
Choreographic dance element			1.7	8	13.6	
Step seq (straight lin	ne or curved, full ice surface, co	ounters, rockers, twizz	les etc)	2.367	7	16.5
One Dance Spin (all	permitted)			1.867	6.5	12.
Total Technical El	ements		Total judges sco	ore for elements	37.0	
			Factor	WPI	WPI incl age	
Impairment Compensation (50 x WPI)			50	63.00%	63.00%	31.500
Technical Skating Skills (Factor x Score)			2.5	5	6.25	15.625
Artistic Performance & Execution (Factor x Score)		Score)	2.5	5	7	17.500
Deductions						0.00
			Total Sc	ore for Pe	rformance	102.32
Programme duration (min): 2.5 Time Adjusted Championship World Ranking Score						